® S.\_\.;Ng\.:l}uh ) N :;_33
.:7%‘" iod, 619)?22 N e% 0
' FxT IS T b | B2 T
;Q-‘J\- iZ: N | Ex e Wwo
. : o=; i0im %Z’ A |0y o8 8T
¥ [<ATH 0N g | 2N fu
e go%f%gwég sk lle 42 s
112.19" MAX. OVERALL 9% igiT S gg % $a 23
PERFORMANCE STANDARD FRAME WIDTH - N =R
ez \9‘,‘.-..5 < 5'.-‘ ?‘0’\‘ 7] > ‘I‘_) E E
IEHRVEAN 580 &v
Tanndee™ a on: EO
v 952 ,°F
L £meg Ob
E g 355 an
o 50¢ % =
& moao S<
Glazed Steel Door : =
P R il
—_— (3}
"NON-IMPACT" o 2 :
INSWING / OUTSWING z 2 8
: 2
o 5 oZ
o 5 -2
T ¥ Z L
T g o5
5= o N Il
2 3 2 8
g = .. < X%
EVALUATED FOR USE IN THE STATE OF TEXAS > o 5 3 27
The Glazed Steel Door system described herein complies with the 2006 S ) 3 = Q
International Residential Code (IRC), Sections R301 & R613 and the 2006 g %= g % Q
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and N =
2404 (including Texas revisions) subject to the following conditions: NS @ g =
o~ X
1. Anchors shall be as listed and spaced as shown in the details. Anchor o
embedment to base material shall be beyond wall dressing or stucco. E
2. When used in areas requiring wind-borne debris protection this product is 9|,
required to be protected with an impact resistant covering that complies E 5
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. § o 2
3. Allowable design pressure requirements must be equal fo or less than the a % %
design pressure rating shown in the design pressure chart, sheet 1 of this é 3 >
drawing. xlg| ™
4. Conditions not covered by this drawing are subject to further engineering =<
analysis. % %
<<
TABLE OF CONTENTS Of«
NI
SHEET# | DESCRIPTION S|2lz
1 Typical elevations, design pressures & general notes i : VER = }} o
2 Door panel details (lip lite insert glazing) 3
3 Slidelte panel details (lip lite insert glazing) NO INSWING +35’0 '35’0 STz
4 Horizontal cross sections oate: 8,/20/12
5 Vertical cross sections OXx0 OUTSWING +30.0 -30.0 SCALE:  N.T.S.
6 Vertical cross sections DWG. BY: JK
7 Frame anchoring YES OUTSWING +35.0 -35.0 CHK. BY: LFS
DRAWING NO.:
TX—4227
SHEET _1 oF _7

R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, TX-4227




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 2.4

| 1"

LATCH STILE
(LVL)

35.75" MAX.

12' LONG
LOCK BLOCK
(WOOD)

PANEL WIDTH

21.0" MAX

D.L.O. WIDTH

95" MAX. DOOR
PANEL HEIGHT
79.0" MAX

D.L.O. HEIGHT
N
E=0

S

JELD-WEN
Insert Glazed
(steel)

)/

INTERIOR

y/i
77
\\

A\

EXTERIOR

1N

POVLLLLAN——

R

/"1 "\ HORIZONTAL CROSS SECTION

\2/

#6X1-

/i

1L

1/2" PH SMS

INTERIOR

GLASS BITE7/16"

1/2" NOMINAL GLASS THK.
1/8" TEMPERED GLASS

LOW

EXTERIOR
TACK SEALANT

GLAZING DETAIL

G1

Lip Lite Insert Glazing

. — AR SPACE
~~—1/8" TEMPERED GLASS

STEEL SPACER
Q'SO SEALANT

| 1" —]
“— HINGE STILE
(LVL)

STEEL SKIN _/

TOP RAIL

(WOOD) ~ ™\

(0.02" MIN.)

FOAM CORE
(POLYSTYRENE)

BOTTOM RAIL
(STEEL)

INTERIOR

|- — ]" —
WA\
E QO

\0
o S ~N
oG 4N

o,
oy ®
*e

-\'\\?‘3\_.\‘;1111

..... O &
e

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

/]
i

EXTERIOR

\
A\

- 1.3" =

/"2 "\ VERTICAL CROSS SECTION

A2/

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

SIDELITE PANEL DETAILS
(FLUSH GLAZING)

LFS | PART OR ASSEMBLY:

FS
BY

11/01/16|ADDED THRESHOLDS/REVISE D.P.

1/09/14 |ADDED ARTICULATING SILL

NO| DATE

1

N

REVISIONS

DATE: 8/20/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4227

SHEET 2 OoF 7

© 2012 R.W. BUILDING CANSULTANTS INC.



95" MAX. DOOR

AN ui
1.75" STk Wy ©g
| ]" —] ——— ]" — f?‘%"“..q 9 &0) "-gg & o~
R Hb N T - n
INTERIOR TOP RAIL e é@r § £ 2 yg
= (WOOD) ~ ™\ 5.} iQim Sy oB BT
f ] 4| s wt 2y &
- ; S iz io §3 £ e 2r
S 2 Pl % 80 85 284 23
) (‘1 F-9 s - - c 15 (=T ] g (]
T e iDL 2 S3e gk
QY s i Lo Z>m (g
‘ IR L 2o Lb
Made™ 5 8&. €9
EXTERIOR 3 252 4,
~ ra [} o)
LATCH STILE HINGE STILE 2 295 gu
(LVL) (LVL) & "’§ 38
fé gﬁ
E 3]
/" 1"\ HORIZONTAL CROSS SECTION STEEL SKIN g &
\3/ (0.02" MIN.)
2
‘l\
EN
35.75" MAX. L3
PANEL WIDTH < e
S
o 3 <n
21.0" MAX z |3 =
D.LO. WIDTH p Bl
o 5E
INTERIOR EXTERIOR £ @ -
3 - \ R S o| B3
W § '0<_: =~
#6 X 1-1/2" PH SMS & i
ol
GLASS BITE 7/16" ==
INTERIOR gﬁ
/7 1/2NOMINALGLASSTHK. A= ——— "
5 38 /8 N (e HE
5 <O A / 1/8'TEMPEREDGLASS O ‘ o5
g Z = X @ ) ,’/—/—AIR SPACE o 0.330 | el 2
=3 Jo) 3 X SIEl @
z R4 L ~~—1/8" TEMPERED GLASS o3| |2
o LLU)_I O Ll
=
STEEL SPACER =%
FOAM CORE olo
EXTERIOR Q'SO SEALANT (POLYSTYRENE) i
[m] [
LOW TACK SEALANT L ol
™ T~
- AN
GLAZING DETAIL BOTTOM RAIL ! 53z
b Lip Life Insert Glazing (STEEL) e
SRE
JELD-WEN oA, B/ 20/12
Insert Glazed scale:  N.T.S.
(steel) 2"\ VERTICAL CROSS SECTION sk MR
3 CHK. BY: LFS
DRAWING NO.:
TX—4227
SHEET 3 oF _7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 3.4

© 2012 R.W. BUILDING CONSULTANTS INC.



SURFACE BOLT: IVES 454 b
(Attached w/ four 2.5" bolts) p g ”
5 5 1/4" MAX. % i 0 ﬁ §
SHIM SPACE : PTE £* B 2P
SIDELITE PANEL JAMB EAT. HEATHING (0id % oy g8 8%
> E > N GNEN wt o E gy &
— K 3 . 3 c ) - J%
/ / / EXTERIOR I S— _gg Egg 3,
j j / =~~~ = e, $0E ¥ sF Szp 52
| Vi Vi Y/ —— i T 2 3s¢ 2
/ / / ni—d 225 QE
: e & 8 R " g &
] @3z %
/1N 2X FRAMING B 54: 5%
) 4 . c a
| 2 || 1\ | L (6>=04) EoRdf gk
o
4/ |7 “ #8 X 2.5" COURSE THREAD / 2 § gL
DRYWALL SCREW s ém
O X O (See Note 1) , : S
Iﬂ [3N|e B —{[~ DEADBOLT: KWIKSET SIGNATURE SERIES "
l " NI — (980/985) AT B
p I™—{l~ LATCH: KWIKSET SIGNATURE SERIES INTERIOR 0.15" \
. / / (991) " DRYWALL v
j . — | |=— C'SINK
4 | Va Va (P #10X 2.5" PFH .8
| ’ / ’ ‘ WOOD SCREW < =G
. =
= /T s |5l 53
HORIZONTAL CROSS SECTION G bl 9
p P ki ﬂ N P CORNER PADS (TYP.) w Outswing shown - Inswing also approved ) @ - &
5 x
o O o P
&/ A8 gl |F
0.75" —=——] . 15— s
Q
\ #8 X 3/4" PFH SMS 4"HINGE N | ATESH STRIRE PLATE E
#8 X 2.5" PFH WOOD SCREW 48 X 1" PEH SMS 2
SIDELITE PANEL -1/2" x|
[ #BX2:1/2"PFH WS Yol 2
2 7 S5 1B
ESESSIE % U8 i B
N R s s // 2 _ g
\ NN : =
/ S 4 ola
A i ENDURA WEATHERSTRIP -
#8 X 2.5" COURSE THREAD ! : (QEBD 650) L
L - DRYWALL SCREW DOOR PANEL SIDELITE PANEL SR
o) 125 ; (See Note 1) #8 X 2.5" COURSE THREAD N°
JAMB / HEAD FATBOY MULLION \ DRY"(VS‘;L; ,igf:‘]’v) - J o-[S
PINE PINE ) N paTE: 8/20/12
4-3/8" FATBOY PINE MULLION / TS
4-3/8" FATBOY PINE MULLION owe. Bv:  JK
NOTE: CHK. BY: LFS
1. Spacing for sidelite screws: 6.5", 35.5", m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION DRAWING NO.:
57.25" and 85" from head to sill (4 total). w Outswing shown - Inswing also approved \U Outswing shown - Inswing also approved TX—4227
SHEET _4 oF _7

R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 44

@ 2012 R.W. BUILDING CONSULTANTS INC.



EXT. SHEATHING \ _

2X FRAMING
< (G>=042)
: N

' / DRYWALL

¢l | |4

1/4" MAX.

SHIMSPACE  ~__ [flLl

L #10x2.5' PFH
1 WoOD SCREW
e

0.15"
C'SINK
(TYP.)

DOOR PANEL \

\— HEAD

yi

ENDURA WEATHERSTRIP

(QEBD/PE 650)

EXTERIOR W INTERIOR

71"\ VERTICAL CROSS SECTION

U Outswing shown inswing

also approved

2X FRAMING
(G>=0.42)

DRYWALL \

1/4" MAX.

SHIMSPACE |

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEENOTE 1)

INTERIOR

m VERTICAL CROSS SECTION

1.

1 #10X 2.5 PFH
WOOD SCREW

7

0.15"
C'SINK
(TYP.)

-

/4

w Inswing shown - Outswing also approved

Spocmg for sidelite screws:
6" from each end (2 total).

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

/ EXT. SHEATHING

LFS | PART OR ASSEMBLY:

LFS
BY

11/01/16|ADDED THRESHOLDS/REVISE D.P.

1/09/14 |ADDED ARTICULATING SILL

NO) DATE

—

2

0ATE: 8,/20/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4227

SHEET 5 oF 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 5.4

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 6.4

ENDURA
PDS\%E DOOR SWEEP
(DBK-R)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/1" VERTICAL CROSS SECTION

\yﬁwing Adjustable Threshold

SIDELITE —|
PANEL

A\

ENDURA
DOOR SWEEP

INTERIOR &

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

Y456 000

‘: i %%;ERIOR

ENDURA WEATHERSTRIP

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR NOTE:

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION
W Outswing Bump Threshold

1. Spacing for sidelite screws:
¢é" from each end (2 total).

w Inswing Articulating Threshold

SIDELTE ~
PANEL\

7 _
#8 X 2.5" COURSE THREAD #8 X 2.5' COURSE THREAD — {2 @ 9
DRYWALL SCREW DRYWALL SCREW 7 O, %
(SEE NOTE 1) (SEENOTE 1) Y M A
INTERIOR EXTERIOR ‘ ERIOR

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/~ 4"\ VERTICAL CROSS SECTION
\y Inswing configuration

P

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
\\8/ Outswing configuration

(.
()

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

(v
S 2
O o
5 . 25
e ul. o
D 9 =En
2 Ilam| x
L'Jmu_l >0
o
o -
0_3< (&)
% L
5 x
8 (@]
S &
& g
U')U')>_
] ] [3

REVISIONS

. — — — '
| 456" | b 456" | bl 456 | I 456" | ! 456 |
1 )INSWING ADJUSTABLE THRESHOLD o )INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 )INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN LAILAA4565 ZAIAA4565FN ZAI4565RDS
f | 456" | * 456" | r[ 456" | * 456" |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g }INSWING ARTICULATING THRESHOLD 9 }INSWING ARTICULATING THRESHOLD 10} INSWING ARTICULATING THRESHOLD
6 ZACL4565 7 ZACA4565FN ZACLAA4565 ZACAAA4565FN ZACAS565RDS
% 2 I}B%
bl 4.56' | 456" | 456" |
11 | QUISWING THRESHOLD 12 ). QUISWING THRESHOLD 13 ) QUISWING THRESHOLD
ZOBL4565 10B45645FN ZOB4565RDS

11/01/16|ADDED THRESHOLDS/REVISE D.P.

1/09/14 |ADDED ARTICULATING SILL

NO.) DATE

2
1

oate: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4227

SHEET 6 OoF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Exp. 11-1-18)\C - Drawings\Current\TX-4224-27.dwg, 7.4

B | SEESTRKE /]
DETAIL

54.47" FROM
TOP
OF DOOR PANEL

e
m

55" ——

ITW CONCRETE SCREW  ¢TRIKE JAMB

3, 2
O 2X framing (by others)
598 ~ y o
o Q (TYP.) g “ (TYP.)
o SEE HINGE = ) !
_l; DETAIL 1 T 1T 1 i Q\l; ]
- T 3 #10 X 2.5" PFH \— DETAIL 1 DETAIL 1 ?
§ (Tvzg%DHSEiRDEW DETAIL 2 % g
AND JAMBS)
y | -
3 Eﬂ N
. N
N
= s A
| SEE HINGE
EE3 DETAIL 2
13
/ &
= ER DETAIL 1 DETAIL 3 /f DETAIL 1 N 8
' K m ] —l_\l I L
%’\ 4" (TYP.) —;[1: 2 (TYP) #10 X 2.5" PFH WOOD SCREW
' 1/4" X 2-3/4" ELCO OR
HINGE JAMB FRAME Aé\)l(gHORING (VP @SILL)

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE (MIN. 3000 PSl)

CONCRETE ANCHOR NOTES:

#8 X 3" COURSE THREAD

WOOD (G >=0.42) DRYWALL SCREW \

DETAIL 1
Integral mullion attachment

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR |ANCHOR'|  MIN. | MIN. CLEARANCE | MIN. CLEARANCE
e | e |seswpn | PRSDW | RoRe
TALnCNON® 1/4" 1-3/4" 2-1/2" 3"
ULTEl:ngN® 1/4° 1-3/4" 1" 3

#8 X 1" PFH wsé

1T T

% #8 X 2-1/2" PFH WS

— #8 X 3/4" PFH WS
~— 4" X 4" HINGE

°
®
\
A\Y

HINGE DETAIL 1

#8 X 1"PFH wsé

0\.‘0

®
®
\
A\

| #8 X 2-1/2" PFH WS

= #8 X 3/4" PFH WS
— 4" X 4" HINGE

HINGE DETAIL 2

Surface Bolt Strike
Plate @ Head Jamb

N

\
A\

A\
\

=

#10 X 2.5" PFH WOOD SCREW

DETAIL 2
Outswing

#10 X 2.5" PFH WOOD SCREW

A

= t
¥ .

DETAIL 3 Plate @ Sill

Outswing

ANSI DEADBOLT

STRIKE PLATE |

#10X 3" PFH WS (4) — |

LATCH STRIKE

PLATE

#8X2-1/2' PFHWS (2) — |

\
Surface Bolt Strike

=

=

W

" L

STRIKE DETAIL

i
aQ
<% )
o - 4
EL o i
S 0wz
0 ui Om <]
2 .85
L L)
5 2 5 2
S 292 2
2 <23 ©
g T =
2 J5@e @
IS M (1]
(7 I
ZOom o
3 gR. &
m o o o
o 232 u
e Zme O
< Q . c
a 24506 O
] 50¢c
A mon <
o (]
w iJE o
4
[
P 2
[A]
3
3 [=
0
[}

CERTIFICATE OF REGISTRATION # F—11852

@)

=

S

& =
x .

) 5 =

= o <

L ELu
L

g 2

<| O

5 |5t
8 (@]
o e
o <
o o

4| o

] e [

11/01/16|ADDED THRESHOLDS/REVISE D.P.
1/09/14 |ADDED ARTICULATING SILL

—

2

NO) DATE

REVISIONS

oATE: 8,/20/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4227

SHEET 7/ oOF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



